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INSTRUCTIONS FOR CANDIDATES
Answer all questions.
All questions carry equal marks.
Only one answer is to be given for each question.
If more than one answers are marked, it would be treated as
WIONg answer.
Each question has four alternative responses marked serially
as 1, 2, 3, 4. You have to darken only one circle or bubble
indicating the correct answer on the Answer Sheet using
BLUE BALL POINT PEN,
The OMR Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out the Answer
Sheet and fill in the particulars carefully with blue ball point
pen only.
1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A WIONg answer means an incorrect
answer or more than one answers for any question. Leaving all
the relevant circles or bubbles of any question blank will not
be considered as wrong answer.
Mobile Phone or any other electronic gadget in the
examination hall s strictly prohibited. A candidate found with
any of such objectionable material with him/her will be strictly
dealt as per rules.
Please correctly fill your Roll Number in O.M.R. Sheet.
S Marks can be deducted for filling wrong or incomplete Roll
Number.
If there is any sort of ambiguity/mistake either of printing or
factual nature, then out of Hindi and English Version of the
question, the English Version will be treated as standard.

Warning : If a candidate is found copying or if any unauthorized
material is found in his/her possession, F.LR. would be lodged
against him/her in the Police Station and he/she would liable to be
prosecuted. Department may also debar him/her permanently from
all future examinations.
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A
1. Water requifement of potato is -

(1) 900 - 1000 mm
(2) 450-650 mm
(3 500 -700 mm
(4) 1000 - 1200 mm

2. What is significance of wax application on
fruits? ]
(1) Enhance appearance
(2) Reduce water loss
(3) Increase shélf—lijfe_g
(@) Al of the zbove

» T
3. A short duration pre-shipment or pre-storage
s 3

treatment practiced to Tt flowers is known
as — t

(1) Pre-—cooling é

(2) Conditioning

(3) Pulsing

(4) Tmpregnation

4. Who developed the ‘Experience cone’ to
classify audio — visual material?
(1) L K. Davis
(2) Edgar Dale
(3) N.Flanders
(4) Herbert

5. Name the tall breed of goatfanious for good
¥

milk yield as well as meat —

6] B W & —

(1) 900 - 1000 fA.

(2) 450 - 650 .

(3) 500 - 700 frl.

(4) 1000 - 1200 L.

Fell 9% W A BT FT e 67

1) feame § |rN

() Ul @ & $H B

@) femg ey ¥4 s

@) wRE G

Hi qui @ Ry T B It o @ -
e o1 O — RS SUeR T ST €
Ry PaT WIKT B —

1) g9 — daer

(2) gHRe

(3 THi H W=

@ EI=

51T — G N BT TP BY oY ST
i e wRmfa fear 22

1) Ew. sk

@) TSR A

(@) T wiew

@) w6

T P A A W S GY ST g
Aig ST & ol o o B, Fe A 9
P W B?

3

(1) Pashmina (1) TF R
(2) Jamnapari (2) AR 1
(4) Barbari ( P

01- ® Page 2 of 32
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6.  ‘Shoe’ is the part of - 6. I T w22
(1) cultivator (1) wex
(2) desi plough 2) <9 g

(3) mould board plough
4) seed drill

(3) S veeT &

@ s fger
7. Which one of the following is a Principle of 7. fr=ifyifag # @ BN AT I sEE
Classical Conditioning Theory? g &1 Mg 29
(1) Principle of Prqiximity (1) Fwear & g
(2) Principle of Closure @) o a1 Frm
(3) Principle of Extinction 3) e BT o |

(4) Principle of Similarity @ e 7 R

8.  ‘Pusa Himjyoti’ is variety of - 8. Tmm ﬁﬁmﬁj}fm 7 -
(1) Tomato (1) <HeR
(2) Cauliflower 2 wEEn
(3) Potato (3) &g
(4) Capsicum @) Brer g
9.  Planting of fruit plant by reducing their normal 9. W’q&ﬁ BT IR B BB T P g
distance is callg;l 2 W g~ t
(1)  high density planting 1) =g guT g
(2) density planting ’ (2) 9T Juey
(3) normal planting @) \aERT Y

, (4) abnormal planting_ . @) ST S

10.  The act of production of young oné in goatis 10. 99 ¥ TAFIGS T SeuraT PEATr T —

called - ¢
: (1) Whelping ) afecd
@) Calving @ T
’ (3) Kidding . @) e
]

(4) Al the three @ SWRF 9=t

01- @ ‘Page 3 of 32
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11. The cross of F; hybrid with its homozygous 11 ST YRGS SE B GRI U6 — 1 HWER Bl
recessive parent is called as - PR FEARN & —
(1) Reciprocal test (1) URERE TRETT
(2) Testcross (2) T B
(3 Topcross 3) oY B
(49 Three way cross @ o ¥ wig
12. Who founded the Indian Phyiopathological 12. R FEcdi e WEEe B
Society? @I fe BI?
(1) Dr.B. B. Mundkur 1 <t &AL SR
(2) E.J.Batler (2) % . 9CeR
(3) Dr. K. C. Mehta @ <@ Azdr
4) V.P.Bhide @ & q R
13. Which is intermediate day plant? 13. wegadt wds wifere der & —
(1) Sugarcane @ =
(2) Potato o @) e
(3) Sugar beet vl (3) Fh=x
(4) Soybean B @ I RICIG]
14. Which goat breed has edf’s like Deer? 14, w6 B e o o Bl 9§ -
(1) Jamunapari (1) AN
(2) Beetal 2) died
(3) Barbari (3) T
(4) Sirohi @ RRE
15. Which type of soil covers maximum area in  15. XTSI & waite &= § i o= aren
Rajasthan? q&T -
(1) Brown Sandy soil @) i el ga1
(2) Black soil (2) o1 GEU
(3) Sandy soil 3) aﬂ:&‘ TaT
(4) Red Loamy soil @ 2rE T
16. ‘Which of the following is-found in upper jaw 16, &= # & @19 = SFTeN B qI 9Y B
of ruminant animal? T WES § BT 87
(1) Dental pad 1) YT
(2) Canine teeth () d T
(3) Molar teeth (@) =dv i
(4) Incisor teeth @) &S T
01- ® Page 4 of 32
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17.  Which is the most useful earthworm used for 17,  ToreeiT 3 o FEE T B oy waiten
making vermicompost in Rajasthan? SUYTT P & —
(1) Eisenia (1) s
(2) Endogeic Q) TENiE
(3) Epigeic (3) T
(4) None of the above @ T BE T8
18. Development of motor skills depends on — 18. Hiex Dl @7 e fnde AT & —
(1) Neuromuscular maturity (1) =g veg gRagaar
(2) Bone density and environment (2 3aRer g7 v yalaror
(3) Neuromuscular maturity and @) R gRTEaT T4 qatRoT
environment @ <R F P
(4) None of the above
19.  Average age of cow and buffalo is - 19. 7 &k A=) fl';érbaﬂ'ﬁﬁ Y ' —
(1) 16-18 year (1) 16-18 9
(2) 20-23 year (2) 20-23 94
B) 23-25year (3) 232549
(4) 25-28 year @) 25-287%
20. The length of estrous cycle in cow is — 20. 1 Y AEAF B s & —
(1) 2-8days O 2-8fF
(2) 10-16days 2) 10-16f+
(3) 18-24days B3) 18-24f+
(4) 26-32 days @) 26-3f
21. The transferring of young seedlings into  21. ar e By TR RN ¥ IR e
another bed is called - FHEATIN T —
(1) Hardening off 1) TREHNOT
(2) Pricking (2) SwRTer
(3) Thinning (3) fRchEwr
(4) Nicking @) sE—<F
22.  The process of parturition in cow is called as—  22. 114 ¥ T % TERAT DR g -
() Foaling ) Wi
(2) Calving @) EIfdT
(3) Lambing (3) afqT
(4) Farrowing @ WA ,
01- @ Page 5.0f 32
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23. Which of the following acid is more in sweet ~ 23.. A wisert # P § @ 59 e @ A
silage? ey B &7
(1) Acetic acid (1) vk s+
(2) Citric acid 2) wElesd I
(3) Lactic acid @) s o
(@) Tartaric acid @) =TERT o
24, Which type of communication is good for 24. THOR ARFFHG D IJEAYT — IR B
adolescent learner as a teaching learning Riv fFY TBR BT RN BT Tl 2?7
process?
(1) Printed material 1y o
(2) Conversation (2) awam
(3) One way communication (3) TP TRHI T
(4) Authoritarian approach @) RFEEa U
25. Where is the origin of ‘Karan Fries” cow? 25,  GROT BTEST T B ORI FEl A §S ©F
(1) TANUVAS, Chf%%nai 1 ATEIANTE, I
(2) KVAFSU, Bidar @) DAverTay, de
(3) NDRI, Kamnal (@) TISILARATE, BRI
(@) College of Dairy‘Technology,:Udgir @) e sife a9 SeiEiel, SR
26. Who described adolescence as a particulatly  26. e fraeen & wear FEr & fog
crucial period for identity formation? Y wY & TEE o & w9 Al
foar 2°
(1) Stanley Hall (1) w8
(2) Erickson 2) TREE
(3) Freud (3) HES
(4) Hurlock - @) =D
27.  Which of the options is studied in educational ~ 27. e § 9§ o9 @ Rew o1 srmae R
psychology? Tfee § e o 27
(1) Caste, Intelligence,r]:nterest,_ (1 nf, g w2, R
Motivation A
(2) Self — concept, Intelligence, Interest, 2) ST — oA % o
Motivation @) i o — e, 3, R
(3) Gender, Self - concept, Intelligence,
o @) <IFER, e — T, ARIRE
Motivation
(4) Motivation, Self — concept, Body T, Bfel
structure, Interest
01- ® Page 6 of 32
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28. Name "the satellite of India™which was 28. WRT D TH TIE I AT ST e
developed for educational purpose — B T B Ry ﬁzb-ﬁq% o o —
V) G-SET-14 (1) G-SET-14 T
(2) INSAT-3A - @) INSAT-3A
'3) EDUSAT o (3) EDUSAT
4) HAMSAT > @ HAMSAT
29.  Which fruit belongs to dry 2l hot Mfimate? 29, T Bl Y e T wrerarg W w27
(1) Pineapple 5(1) ST
(2) Pomegranate 2 FR
(3) Grape T (3) FR .
(4) Banana ! @ g :
30.  “Shorthorn’ breed of cow belongs to which 30, T 9 ¥ﬁ%5“§=f T e < By 27
#  couniry? T . i =
(1) England )] Ig"a?}ugﬁ
(2) Denmark @) ST
(3) Holland (3) efivs
(4) Canada @) T . ' -
31. Which of the folIowing cost curve is not ‘U’ 31. -7 ANT 9 U Tpi BT T8 B )
; shaped? ! | 4 i
(1) AVCeurve W A
(2) ACcurve , @2 T o
(3) AFC curve v 3) R’-W{\‘ﬁ- T
4 MC.curve @ w q.ﬁ’ - -
32, Which s the secondary‘ nutrient? 32. feidg Oive q ® — .
(1) Sulphur 1) i
(2) Phosphorus ~ (2) BEHRY
(3) Boron (3) IR
4) Zinc . @ Rie
01- @ Page 7 of 32
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33. Which of the following is not the advantage of  33.

preparing Balance Sh%(eg?
(1) Provide information about present
position of fannr;ssets. q
(2) Provide information about liabilities
on farm.
(3) Provide information about profit and

loss on farm.

GET IT ON

g # ¥ P W GEF — T3 BT A T8

&

(1) wE IRTERE & T o BT
o B 2

@) i B SRR $T A 7 g

@) @ @ I BT T weT B

@ from @ RdT geew @ AR |

(4) Provide informat}ion about financial ST Y Fd 2
soundness of the farmer.
34. The origin place of In;l:f;n Aloe is - 34, TRURT/ W BT SERT I8 —
(1) North Africa ~ T ' (1) T BB
(2) Canada 725 (2) TSI
(3) India a1 (3) w=q
(4) West Indies . @ I 2.
35. Where is the Prosopis cineraria based 35. st RERET smna 99 Haes gl
silvicultural system prominent? PE T 27 ’
(1) Humid and sub — humid regions ) o 3R Suend &3
(2) Arid and semi — arid regions @) TP IR FEF-TH e |
(3) Indo — gangetic plains @) g — W a Yarq
(4) Coastal and IslTang' _;:egions @ AR A &=
36. Which of the following is not affecting factor ~ 36. e 4 @ 99 W e IR 3
of market surplus? T S 9TeN RS TTE 87
(1) Quantity of product 1) SdOE CIRGIED
(2) Quality of product (2) S B IoET
(3) Size of farm 3) Bl G BN
- (4) Size of farmer’s fg}tﬁly @) TP TRIR BT IER N
37. Who gave the ability.model of Emotional 37. WS gy @1 G Aisa e E?
Intelligence? -
(1) Goleman @ e
(2) Petrides 2) fgsw
(3) Salovey and Mayer @) < T AR
@) Terman i @) <™
01- ® Page 8 of 32 ¥4
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38,

39.

42.

An insect that is parasitic and lay its eggs on  38.

other insects, is called —
1
@
3
C))

Parasitoid
Predator
Spider mite

Parasite.

Which is considered for partial budgeting? 39.

(1) Only fixed cost
(2) Only opportunity cost
(3) Only variable cost

(4) Fixed cost and variable cost

The process of gaseous exchange where 40,
oxygen is taken in and carbon dioxide is
liberated outside is called -

ey
@
3
@

Photosynthesis
Respiration
Percolation

Precipitation

The poultry birds from a day old to six weeks  41.

of age is called -
(1
(2)
3
@

Layer
Chick
Pullet

Grower

Solar treatment against ‘loose smut’ of wheat 42.
was recommended by —

(1) E.J. Butler

(2) M.K. Patel

(3) Luthra and his associates

(4) G. Rangaswami

—

— —

I BT W TRONdr BT § iR o el W
v e &, FHEaar ¥ ~
) e
Q) TR
(3) wigST Hise
@ TRy
AiRes - # il 1 oy & —
(1) % Rer @
@) ﬁr&)‘aa;\g}ramﬁ
3)
@ Rer arm &R 9a ar
PI SR & AR PR SEslraES T8 ga
BKN B, PEdiaie-—
(1) wre Heayor
2 TE
(3 TuBT
(4) oo D

~ bagl.
e 3T W B A 99 9% § g & I
Wﬁ%-_m’grm
1) ==
2 B
3 3@2’ i3
@ "w
I D Ty e D RIE @R STER
RipriRer fres gRT &) 1€ =f?
()]
2)
3)
@

e e arra

. 9. gEeR
. &. o
Sit. AR
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43, ABook “A study of thinking” iswritten by ~ 43, " T SRS, FeD forell 8—
(1) Jerome Bruner (1) SIRM R
(2) Joseph Schwab (2) SIRG <€
(3) Jerry Lucas @) SN ge™
(4) Hilda Taba ( @) fRer Tar 1 "
44. Average body temperature of Sheep js - 44. ¥ @1 A TRING GITHN F —t?
1y 32°C »f =z D), 32%% A
@ 39%C @ 30 % n
(3) 42°C (3) 4295, Py
’ @ 36°c @ 36 :
45. A small water storage structure for collecting 45. 3UdiE 9idl Ul Gos i ﬁN Th BIET ool
and storing runoff watéF is calfed — : + SR XRTT HEANIL & ~ PR
(1) Farm pond fe 1) =a qas
(2) Percolation wellfs @ o T T i
(3) Checkdam "™ 7 . @) A dn ¥
(4) Minor irrigation tark. & @ g Raré < L
46. Which one of the following s not a factor that 46,  Fr=ifaifea # & P T 19 o © ARG
adversely affect the mental health of child? wWRed P g W P Gl PIRD
(1) Excess of homework e} %‘5
(2) Fear of failure resultmg in tension (1) "IE-'?FR} zﬁ sTﬁlib_dT b
(3) Emotional stablhty of teacher @) v NP WY G‘cCIB[ FFITEF
(4) Lack of friendliness on'the part of @) T B ST ﬁngﬁT
teacher @ ReEmi @ R EN ﬁﬂﬂ': 1?;‘?[ 4
47. The ways in which th;1 message is handled 47. el W@ O 9 vga e @ o adie
- before it is placed on the channel 1s called - T ¥ Rt S §, S P % -
(1) Treatment () s
(2) Message mapping (2) I A ‘ .
(3), Tiineline (@) g e o
4 De;llonstraﬁon (4) wEIA .
01-@® Page 10 of 32 -
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How Legans defined the needs of the peopléin 48,

the form of the difference between them?

(1) What is, what could be and what ought
to be

(2) Desire, conviction and satisfaction
(3) Strength, weakness and opportunity
(4) What to do, how to do and when to do

Sindhuri (Bhagwa) is the variety of -
(1) Ber
(2) Lime
(3) Aonla

49.

4) Pomegranate

Which of the following is not assigned work of ~ 50,
regulated market committee in Rajasthan?
(1) To provide transport facility from
village to mandis
(2) To resolve conflicts of farmers and
middleman
(3) To provide modern storage facilities
for agricultural products
(4) TImmediate arrangements are made for

the payment of produce

A Y R veR A 9 anTeTsas
P! 37D 99 ¥ SR By F afefe fear?
(1) 8, @& B Aoar & ek g B
@) %991, 9o sik wgie

(3) Y, HAGN @ik fEeR

@, 0 F B, B BN T N o

HT B

Rt () fraast fremy £

@) w® &

"'(2'51 WL B o,
. @ it

. @) IER H

et % Jiwe T Ty @ Frafg

(D) T ¥ Afsi 7o gReasT gl
SUTRT BRET

(2) P UF Riovr Aereel & R

@) SUS B YA 8 deple Ry
CIRSIGI

@

SL. The disorder characterized by abnormally low  51. Wwarq@ wAREY & vog Dfcwrm &

levels of calcium in the blood of parturient

cattle is called —
1) Milk - fever
(2) Calf scour
(3) Mastitis

(4) Ruminal tympany

RIBR BT Par ST 2 —
@O 39— =R

(2) P WHR

() erftem A

@ Wit fooh
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54.

55.

56.
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Pollinator variety of Aonla is -
(1) Hathijhool
(2) Balvant
(3) Chakaiya

(4) Banarasi

Two or more chromosome replications without
the act of nuclear or cell division is called —
(1) Endomitosis
(2) Dizygotic twins
(3) Genetic drift

(4) Mitosis
L
Which is variety of Khwaérif Onion?

(1) ArkaKalyan

TiE

(2) Hissar—2
(3 Udaipur — 102

(4) Early Grano

Which growth retardant is used for reducing the
tree vigour in mango?

(1) Cycocel

(2) Alar

(3) SADH

(4) Paclobutrazol )

Advance organizer model of teaching is given
by -

(1) Piaget

(2) Ausubel

(3) Suchman

(4) Bruner

52.

53.

54.

55.

56.

aTiaer B RATS 5 § —

1) i

(2) T

(@) @Al

@) TR

T a1 PR e @ Rer @
¥ o TORGE WRIHRT P HE O T —
1) demEeE

@ fgwa g

(3) AR BT

4) EREC

TS B Tl B ' —

(1) B B

(2) fER -2

(3) STaR — 102
) =i I

am # U B Hus B A @ (g [
g JERIeE T SUART fBaT W 27

1) wEEN

(2) R

(3) wE U S uE

@) UaegsTe

BT 1 AU Wed WAE eI
3

O s

2) g

(3) gaa

@ TR
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37.  According to Lumsdaines’s view, which of the

following is correct as approaches to
Educational Technology —
(1) Hardware approach, software
approach, general approach
(2) Hardware

approach, systems approach

approach, software

(3) Software approach, multiple
approach, systéms approach

(4) Hardware approach, multiple
approach, general approach

58. Molya, a serious disease of wheat and barley in
certain districts of Rajasthan is caused by -
(1) Fusarium oxysporum
(2) Meloidogyne incognita

(3) Heterodera avenae

*

(4) Pythium aphanidermatum

e

59. Ring formation on horns of buffalo starts at age

57.

58.

59.

TSR P qguR REnr gedie @
TiaRe o & surm ) &

(1) TSR IUFME, GeRR ST,
SRS SN

(2) TRER SUNM, GiTeIR SURE,
Reeq surm

(3) YRR SUNH, 9ediUe SR,
e surm

(4) TERR IUNH, FedUel SURH,
SRS S

e, IS F 7o Rl § A ek o

BT UP TR AT e SRor Sy 87

@® qﬁ%sﬁiﬂﬁ@w

2) TeligerTET sRifer

(3) TS T

@) iR Tisfredicn

WP A R v T ouNT B

of - F_

(1) 2 years (1) 299 Frsy W

(2) 2.5 years (2) 2599 3 S W®

(3 3years 3 3 FH SR

(4) 5 years @ s5HHeER

60. Requirement of dry matter in food as per 60, I T B YRT 100 FHIT TR TR W AT

100 kg body weight in cow family is - F > qme%ﬁ‘m Sl & —
M 25kg 1) 2.5

(2) 4.000kg (2) 4.000 f&.am.

(3) 5.000kg 3) 5.000 fam

“) 5.500kg @) 5500 f5am

01- @ Page 13 of 32
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61. The Seed Act was passed in which year in

India?

®
@)
3
@

1956
1966
1976

1986

62. Which of the following is level of Lawrence

Kohlberg’s Moral Development Theory?

®»
@
3
@

Conventional level
Pre moral level
Operational level

Self accepted mdfal principles level
IR

63. Which is an example of root cutting?

@®»
)
3
)

Peach
Bignonia
Grape

Fig

64. The following is the disadvantage of

co-operative learning ~

)

)

3

@

Provide experiences that develop both
good learning and social skill.

Build positive felationships among
students.

Provide individual attention and
assistance to one another.

Only some students do their fair share

of work.

61. wra ¥ g1 oRfEE e ad sl
o T ar?
1) 1956
@) 1966
@ 1976 *
4) 1986
62. ﬁﬂﬁ‘f@ﬁﬁ@[%ﬂﬂﬁ@?ﬁiﬂw
(1) TEREE &R
2) @ e wR
(3) d|ihard wR
@ aﬂﬁfﬁﬁmﬁmw
63. TS Dol BT IR § —
1) g
2) f=tEr
(@) R
@) 3
6d4. T 3 ¥ weANTIHG AR B B B -

(1) =BT SN Ud |ifeE Bl
RAeRIa S gl T T

@) RenliEl § vorRwE W& T

(3) TH TN B WS PR G
Jafmes s <11

@) @@ o & Rerl o § wEgm
LR

01- ©
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65.

66.

67.

68.

Match the correct pains — 65..
(@) Adolescence (i) Intimacy vs
Isolation
(b) Early adult (i) Int,egrit‘y Vs
Despair
(c) Middle (iii) Identity vs Role
adult Confusion
(d) Lateradult (iv) Generativity vs
Stagnation
a b c d
@ i ii iii iv
@ it i iv ii
3) iii ii i iv
4 iv i tii i
Blast of rice is caused by which of the 66.

following pathogens?
(1) Ustilago tritici
(2) Pyricularia oryzae

(3) Alternaria alternata

(4) Aspergillus flavus

In India share of livestock production in total 67,
agriculture income is -

1) 16%

) 18%

B3 20%

4 22%
Which among the following is known as milky  68.
mushroom?

(1) Agaricus bisporus

(2) Volvariella volvacea
(3) Calocybe indica
(4) Pleurotus flabellatus

e g BT e S —
@) PR/ @  enedREr s
ST
(b) URfHE (i) FFUAT §H
D BRI
() T AR (i) UEIT IM
@) W T (iv) ScuraHdT T
Rerar »
a b c d
(1) i i i iv
@ @77 iv ii
3 it i i iv
@ o i iy S

8N B SR filag ¥ 9 g

MFE B HROT Bar &7

4 ¥

(1) IReer ZfewE

() uERgaREr siRer

(3) =R seeREeT

@ TERMEE Tegq

WA A FA PN A wpH @ R
.

1N 16%

2 18%

(3) 20%=

@ 22% ™

Frferied # & 59 gfmr woem & w9 §
STHT ST 87

(1) vnRew Ry

(2) dfeaRyer dieaRean

(3) P SR

@) TRITH wNeey

01- @
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69. Which of the following insect does not feed 69. PH—T DI IITD G ¥ A8 @
during adult stage? 27
(1) Lacinsect 1) o= D
(2) Mango mealy bug 2) v Al T
(3) Gundhi bug @) T
(4) Mustard aphid @) o< TS
70. Any change in behaviour of people as aresult  70.  $THI & o7 § @ P AgER ¥ dig Wl
of experience is called - yRad=, pedRT & —
(1) Teaching 1) e
(2) Learning 2 e
(3) Training (3) ufdemr
(4) Mapping @) wERE
71. TIn direct seed sowing method, seed rate of 71. & &1 el ga A, I Bl A g -
paddy is -
(1) 80-100kg/ha (1) 80-100 /3.
(2) 60—-70kg/ha @) 60-70fFm /3.
(3) 40-50kg/ha (3) 40— 50 /&
@) 55-65kg/ha @ 55-65 /%
72. In Vetiver, essential oil is extracted from — 72. G B Gl Fiprer &g N8 HT B/ 91T
SUGT BN &7
(1) Root 1) sis
(2) Stem (2
(3) Leaves @) uRwmi
(4) Seed @ 9
73. Which of the following practices of the 73. WG & f=farfeg ¥ @ @9 9 ugld @
demonstration is used to compare (w0 TN B TP DI gei-l B & Tow e
techniques i.e. old and new? il & i R/EL 3R 987
(1) Result demonstration 1) TR S ti]
(2) Method demonstration 2 R St
(3) Field visit (3) & BT T
(4) Mass communication @ < R
01- ® Page 16 of 32
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74. Pure milk production is affected by which of 74. il # & BITET PRE Y& T Seara-
the following? Pl TG Har 57
(1) Health & cleanliness of animal (1) 9 BT @RI 79 BT
(2) Health & hygiene of milk man ') gﬁq-q-r HI WG T ABIS
(3 Layout and structure of dairy 3) gfili*ll ST Y TIEE T GRE
(4) All of the above @) SwE w9
75. Determination of base sequence of a DNA 75. SLUI.Y. 317 @ FRIR IHA B R $
molecule is called — BET ST & —
(1) DNA - finger printing Q) e - B PR
(2) DNA - sequencing ) ST — sfEAr T
(3) Gene — pyramiding 3 9 AT
(4) Karyotyping @) SRaeERT
76. Metalaxyl, a systemic fungicide is used to 76, HeldHd, U BabEl BT UGN
control which group of diseases? frg TgE & A B FrEfE e B g
e ST 87
(1) Ascomycetes 1)  THEEREN
(2) Oomycetes (2) FAEREN
(3) Teliomycetes @) REmERENS
(4) Zygomycetes @) STEERIE
77. Who is known as ‘Father of Canning’? 77, R 98 &7 T Y P @ 87
(1) Saddington 1 e
(2) Peter Durand (2) X ;
(3) N. Appert )] q;rgu i
@) William Underwood @ ﬁﬁﬂ“ —
78. Biological amelioration of Salt affected soils 78. <9 H‘ilgg fied =1 St R Fae
can be done by — W%&T%ﬁmﬁ?
(1) Flooding or leaching §)) \—,m:a-m:[ iR REnes
(2) Frequent irrigation (2) 9R — TR RiaE
(3) Application of farm yard manure (3) TR @ @ B TOVT
(4) Application of gypsum @) R 1 yEn
01- ® Page 17 of 32
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79. Which disease is caused E}gprotein deficiency? 79. S99 ¥ B9l 9ER U F W 9§ &b
87
(1) Beri Beri O T
(2) Scurvy THE 2) B
(3) Osteomalacia e (3) A AERET
(4) Kwashiorkor - (4) wRERER
80. Determination of the proteome is called — 80. wieaH & FwlRy &7 Pea & —
(1) Proteomics (1) wieses
(2) Genomics 2) STy
(3) Genetics (3) argERE
(4) Karyotyping . @) SRR
81. Emitter is related to - = 81. ScHSid GEftT § —
(1) fertilizer M) SREd
(2). irrigation @ REE9
(3) plant activity (3) U=y a9
(4) chemical @ EREQ
82.  Which bio agent is generally used to control the ~ 82.  BI—d7 919 Toie AFER T) 97 ITAR A
fungal diseases as seed treatment or soil Rl 9oirM & w9 ¥ B9 M B Rl
amendment? B B 1T SURT Ay i 27
(1) Trichoderma spp. 1) TEeEA ey
(2) Verticillium spp. @) aFRifEm e
(3 Aspergilius spp. Lol @) TERREE Wi *
(4) Fusarium spp. =k @ wERE Wi
83. Central Institute of Agn%‘t%flqture Engineering is  83. &9 FY ol Hwm Rem & — ]
situated in -
(1) Bhopal i (1) e
(2) Jabalpur - (2) vEeR i
(3) Jhansi 3 =i
(4) Roorkee @ TsH
01- © Page 18 of 32
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86.

87.

88.

84.

85.

In Mitosis, the longest phase is — 84.

(1) Metaphase
(2) Prophase
(3 Anaphase
(4) Telophase

Early sowing time of groundnut is - 85.
(1) first week of April
(2) second week of May
(3) first week of June
(4) third week of June

The standard crop geometry of guava plants  86.
is -
(1) 3x3meter
(2) 5x5meter
(3) 6 x6meter
4 10 x 10 meter
Mango variety ‘Arunika’ is developed by - 87.
(1) IARI
(2) CIAH
3) CISH
4) IHR
Which state of India is ranked first in wool  88.
production?
(1) Rajasthan
(2) Haryana
(3) Gujarat

(4) Himachal Pradesh

2
(1) #HeEHS
(2) H
@) A
3t
@ =
Fahell 9T 3Rk g BT W T —
(1) il &1 Yo |wile
@ W o gy gaE
(3) S BT Y W<IE

(@) S T AE
FHHE B U FIH | 99P g8 e &l

oI &7
(D 3x3¥ReR
(2) 5x5¥eN
(3) 6 xi6 AN
@ 10x10%X
M B i “aroter ReRm o T 8 —
(1) SETSIRIAE. §RI
(2) WIMETTE. gRT
(3) WIAEIHTA EN
(@) IRIME.YAIR. R
ARG H PR Wod S SR § Hem
27

1) IR
(2) =R

3) TR
@) TR wew

01- @ Page 19 of 32
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89.  Gestation period of cow is approximately - 89. IR T T T fbas A & e 22
(1) 280 days (1) 280 &=
(2) 265 days ) 265 fe=
(3) 300 days £ 3) 300 fas
(4) 310 days < @ 310 a7
90. The basic chromosome number is denoted as - 90, T URF HEAT BT e i wmar & —
® vy @ vy
2 x @ x
3 =z 3B z
@ n @ n
91.  Which insect is not managéd by the Beauveria 91. & Pie &I yser =gaRan IRFUFT BRT S
bassiana? * forar <irer 87
(1) Whitefly (1) og T
(2) Thrips 2 g
(3) Aphid @) TE
(4) Locust @ B
92. Frost is the result of - 92. TUR gk & —
(1) Evaporation (1) qrieRor
(2) Condensation Q) G
(3) Sublimation 3) wwluEE
(4) Damp haze @) T g
93. Which of the following is not peculiarity of 93. f=fifag § P9 & wrdg DY fRqor 2
Indian Agricultural Marketing? forgear =&f &7
(1) Long chain of middleffien 1) Il F 76 e
(2) Lack of price knowlgdge @) T HE T B e
(3) Lackof fanner’syy}on (B) I TS BT I
4) Well-developed co-operative
arkting ;’S o o @ EHN Ruue @Y fReRn g
94. Wheat variety ‘Janak’ 85t wiped out from 94. ¥ 6 5w S 59 W $ eR S
cultivation due to which diSease? § G B Y
(1) Leaf rust @ &I =
(2) Loose smut () @ T
(3) Karnal bunt (3) T g
(4) Flag smut [ @) T =
01- @ Page 20 of 32
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95. Which theory says, “People construct theirown ~ 95.
understanding & knowledge of the world by
experiencing things and reflecting on those
experiences.”?

(1) Behavioural theory
(2) Cognitive theory
(3) Motivational theory
(4) Constructivism

96. Amount of water present in plants is - 96.
A) 45%
2) 60%
3) 62%
@ 9%

97. Incorporation of two or more genes governing  97.
a single trait in a variety for resistance to
disease is known as —

1) . Reverse breeding
(2) Gene pyramiding
(3) Positional cloning
(4) Back cross breeding

98. Which one of the following is not a mode of  98.
_computer aided instruction?
(1) Game mode
(2) Tutorial mode
(3) Practice mode

(4) Inquiry mode

99, ‘Rashtriya Paramparagat Krishi Mission’ was ~ 99.
started in -
(1) 2011-12
(2) 2012-13
(3) 2013-14
(4) 2015-16

w® e o g @ el whe ek
oM &1 Fmr e £ 39 a1 R 98
HEdl &7

(1) =gERaEl g

@) s R

@) afReTE R

4 Cfifaars

dl § fbw wEn § wa urn ST 8?

D 45%

(2) 60%

(3) 62%

@ 90%

AT iR et B forg ve 8 fawer &
Frifya Fe arel a1 a1 <1 9 AIfieE Sl &6l
FARY HEamar § —

(1) Rt aifT

() i iR

(3) Rerla =T

@ % Hig NET -

frefiRag § & @9 W HRgex WEH
TSI, FER el 87

(1) TEwed

@ SRR e

(3) 3 WY

(1) 2011-12
(2 2012-134
(3) 2013-14 4
@) 2015-164
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100. Which test is'more reliablé for estimating the 100, | WIS & BT SR T & g
general combining ability?0¢ : PBIT AT 0 e ey 27
(1) Open —pollinated progeny 1) TN — g oty
(2) Top cross H (2) o0 B
(3) Polycross 00 @) i B
(4) Single cross ' @) Rive o
101.  Apomixis in which bulbils are produced in the 101, 3T /R Yo # goif & W I
inflorescence in place of flowers.is known as - T UGl I¢0e 8l & $Edl © —
(1) Recurrent apomixis (1) TEd TS
(2) Adventitious embryony. (2) URIP T
(3) Non —recurrent apomixis (G) ST ST
(4) Vegetative apomixis @) FRF ST
102. Which one is not the basic function of 102. PF—uT WaR &7 4 B 48 87
communication?
(1) Imformation (1) g
(2) Command (2) =T
(3) Influence 3 THE
(4) Evaluation- 4 Hegiea
103. Disease Pellagra is relatedto - 103. YT NN HIRT & —
(1) Vitamin B, 1) e § —2
(2) Vitamin B, 1
t i (2) faefm & —1
(3) Vitamin C % 3 e @
104. Which one is not a PCR! based molecular 104. W &I U YL LR, SR aNvrfde ArRx
marker techn'iqﬁé? 5 T TPl T8l §?
. _
(1) RAPD ? ) D) IRTHEE
(2) AFLP - ) THTEdL
(3 SSR =TF () THTHIR.
4) RFLP . v
4) REL (4) JIRUB.Te,
01- @ Page 22 of 32
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105.

106.

107.

108.

Seed rate of hybrid Tomato is -
(1) 150-200gm
(2) 250-300gm
(3) 400-500 gm
@) 600-700 gm

In India Phalaris minor developed resistance
against which herbicide?

1 2,4-D

(2) Atrazine

(3) Butachlor

(4) -Isoproturon

Which river is related to buffalo’s breed ‘Nili’?
(1) Ganga %
(2) Sutlej
(3) Ravi
4) Vyas

Which of the following statement is not correct
in tespect of contribution of agriculture in
India?

(1) The share of agriculture has got

declined in last decades.

(2) Dependence for employment on
agriculture has got increased in last
decades.

(3) Agriculture has been important source
of foreign exchange.
(4) Self-dependence has increased in food

grain production.

109. - Rain shelters«are used for production of —

(1) Pulses and oilseeds

(2) Vegetables, flowers and fruits
(3) Cereals and millets

(4) Fibre and forage crops

105.

106.

107.

108.

109.

AR & wa) fpet @ S B A T -

(1) 1502009

(2) 2505300 UTH

(3) 400 -500 97

(4) 600 700 U

IRT § oy AER ° f5a et @
Reaeme ufok wfea o &7

@D 2,4-%9

(2 v

(3) R

@ et

g & =xa el B ey e T 9 8
(1) 7Im.

(2) e

(3) &

@ =™

P BT IR i # oY B
ARTEE P G H TS T8 89

1) o gee § sefeaen 4 BN @
fawa & gem 21

(2 fwa e § o & fow PR
R fiRar 98 §1

@) PN RSh =R o1 vgE i @l
21

@) EEE SeT § ATHERR q6l
gl

fopaT wImaT &7

(1) == & Rides

(2) afesH, %el Td e

(3) oM ¢ AiC S

(4) =M UG ART HEHA
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110..

111.

Soil depth for Orange cultivation is - 110.
(1) 2mt.
(2 3mt A
3 4mt
5
4 S5mt
&
‘Paraquat’ is - 111.

(1) weedicide

(2) insecticide

) fungicide

(4) growth regulator

TR B Wl @ forg 9 B e § —
@ 2 #e=

2) 39X

3 49

@ 5%x

R § —

(1) WUGIRAREN

(2) e

(3 FHaBEr

@ e e

GET IT ON
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112. Which of the following fhreed of cow is 112, 19 § ¥ - 19 A =1 9g ¥ 99
heaviest? 5B B 87
(1) Gir 1 fir
(2) Tharparkar () URIRFR
(3) Kankrej (3) BiBve
(4) Sindhi @ R=h
113. Inreproduction organs of cow, living period of 113. g & W+ T , HUSTY] B ST W B
ovum is - Ay § —
(1) 80 hrs. (1) 80Ew
(2) 100 hrs. (2 1008
(3) 110 hus. (3) 1105w
(4) 120 hrs. @ 120%Fw
114. Word climate is related to - 114, SioER] o8 GG & —
(1) Latin e 1) fes
(2) English F (2) =fEeh
(3) Sanskrit T 6)) W
(4) Greek - @ e
115. Central Institute of Medigipal and Aromatic 115, =i iwelia gd e wrew e R
Plant (CIMAP) is situated in which city? eN § Rerg 87
() Jaipur 1) AR
(2) Bhopal ’ @ W
(3) Lucknow @) TGS
(4) Patna @) Te
01- & Page 24 of 32
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116.

U

117.

Fully mature red or yellow fruit stage of Date

. Optimum brooder temperature at height of 2"

NABARD is established on the basis of 116.

recommendation of which committee?
(1) Dantwala Committee
(2) Shivaraman Committee
(3) C. H. Hanumantha Rao Committee
(4) Krishnamachari Committee

is known by -
(1) Kimri
(2) Khalal
(3 Rutab
@

Tamar

above the floor level should be -
(1) 95-100°F
(2) 90-95°F
(3) 100-102°F
4y 98-107°F

117.

118.

GET IT ON
Google Play §

TS BLITT o0 TR 3 RmiRe w®
@I TSP

(1) <idaren ARy

(2) Rraxm= |ty

(3) . Ta. g N @

@) FUTEN Ak

o # Hal o ol fasiaa o diel ar
T 3fERIT & —

1) @

2 TId

(3 w9

@ TR

TR B T BT B ¥ A W AgHA
AMGHH 7 BT AP

oy
@
3
C)

95 - 160°F
90 - 95°F
100 - 102°F
98 — 107°F

119. The chromosomes of a cell arranged according 119. TEE & SER SANK DIRGT © TORH
to their length is known as — PHEAd & —
(1) Karyotype (1) RIEET
(2) Isotype @) ey
(3) Idiotype (3) SRRy
(4) Phenotype O
) 120. Which Granth is related to weather 120, Wrew QRN & Weft vor & —
forecasting? i
(1) Rigveda 1) ==
(2) Atharvaveda @) SerE
(3) Brihat Sanhita (3) g=a Wi
‘ (4) Samaveda @) W
0i- © Page 25 of 32
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121. Sugar percentage in temporary preservation 121, Rl yRRetor fafer & < &\ o=
method is - gfererd B 87
@ 20-22% T M 20-22 ufem
(2) 25-30% i (2) 25-30 wfier
3) 32-40% 3 32-40 yREE z
@ 42-50% - @ 42-50 g
122. Which of the following is not included in the 122. Fr=feiRag & § &9 @ 4= AR T T
test of ‘3 R’s credit principies’? # wfHer T /7
(1) Return from investment 1 fFow & gykea
(2) Repayment capacity (2) YTFTAF &
(3) Risk bearing ability i 3) IRe\ 98T &Har
(4) Regain of capital @ TS T
123. Theresponse of a plant to the relative length of 123, U iR 3R @l 1 |me Fi'eﬂ's‘ % forg
light and dark period is cailed - e P HiAfhar &y oar oIkT & —
(1) Photoperiodism 1) <IigEferar
(2) Photosynthesis ) ‘ (2) YBTE Geeol
(3) Respiration 3 @O
(4) Accumulation @) g
124. Weight of ewe of ‘Chokla’ breed is - 124. 9S Al I Bl HIGT BT T & —
(1) 10-12kg 1) 10-12 .
(2) 14-16kg i @) 14-16 &
() 18-22kg I B (3) 18-22f&wm
4 24-32kg T @ 24-32FFm 7 y
125. Intensive Agricultural 'Drettict Programme 125. &9 $i¥ fS7am orme @R TSid) o o/
(IADP) is also known as -1 1 &9 w9 # S S 87 "
(1) Sheep Development Programme 1) 9% em sisa !
(2) Package Programnfg'? 2 Y5 FrimH P
(3) Poultry Developmerglﬁ)rogramme (@) FEHe ey FRIwT .,
(4) Hill Area Developmgrﬁ Programme @) = &y R W )
01- ® Page 26 of 32 -
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126. leghom breed is related to which class of 126. < TEM, T T @ fbw o & Wl &7
poultry?
(1) American @) R
(2) English () 3fash
(3) Asiatic 3 TREE
(4) Mediterranean @ ’EWW’H
127. For a study of farming system, the best PRA 127. &Y WMol & oegad @ g @& ares1
excercise is — GLART, N B —
(1L
(1) Transect walk 1) T dfe
(2) Resource mapping () <R AFRE
(3) Timeline @)
(4) Venn diagram @ 3 e
128. Commercial propagation method in Ber is - 128. R ¥ @A waEH -l & —
(1) Tnarching 1) s
(2) ‘T’ budding 2 & wfoorE
(4) Crown grafting @) BRR Auo
129, Which ome is group approach in 129. IR ¥ HYE 'cg&"ﬁﬂl BT 27
communication?
1) =i
(1) Personal letters O i
(2) Field days @ &= 1T -
(3) Flash - cards @) o B
(4) Circular letters @) fﬂgl a3
130. Which fibre is called Queen of Textiles? 130. 9 I & o= @) T BET oRT &7
(1) Cotton fibre (1) S99
(2) Jute fibre (2) weET L
(3) Sunnhemp fibre 3) “3;“2:, e
(4) Silk fibre @) Q.QE ?,m
01- @ Page 27 of 32 4
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131.

132.

133.

134.

135.

Theory of learning, which totally depends on 131,

observable behaviour is associated with, which
of the Theory of Learning?

(1) Cognitivist 5
(2) Developmental
(3) Behaviourist

(4) Constructivist

‘New leaf” is a cry gene incorporated 132.

transgenic variety of —

(1) Tomato

{(2) Potato i
@) Maize &
(4) Cotton

Who developed Branching Programmed 133.

instruction learning?
(1) Skinner
(2) Thorndike
(3) Tolman
(4) Crowder

Which one is physical mutagen? 134.

(1) Ethidium bromide
(2) Sodium azide
(3) Ethyl methanesulfonategy

(4) Gammarays —

Knowledge of educatiopa&g%ychology is not 1385,

essential for a teacher because it —
(1) helps to understand tHesyllabus

(2) helps to understand thét student’s style
(3) helps to compare the students
(4) helps to understand ledrner and his

physical qualities

rem & g, o T WE ¥ < arg

FgER W R o=xar & 9em & B9

g 9 ST &7

1) IEHD

(2) fIwrTHS

(3) HIBRAEI

@) RfaEr g =gEEs

' W% UF WIS M WA grasiE

et &

(1) TR

(2) 91

(3) wEDI

@ TuN

U ST ST AT e

fawRma fFar

1) IR

() oSED

3 <A

4) BHRE=N

DI TP Hife SARTIoT 87

Q) (RS deEs

(2 <IfsTw oSS

() TR AEesET

@ A fee

ww REe & foy Ren safless & s

JIEF BT B, TG I§ —

(1) TooEw w9s ¥ GERET B 8

2 Tl @ <Ea g9sm § |srar
HT &

(3 TR & go v ¥ wsw
FRAT ©

@) T 9o S TRRE o
P G | FERET B
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136. How many worker bees are there ina colony of 136. #EgHaEl @ T Hiamr A oo af®
honey bee? HegAfaerRt gl 87
(1) 10000 (1) 10000
(2) 15000 (2) 15000
(3) 60000 (3) 60000
(4) 90000 @) 90000
137. Depth of Nursery soil saturated by formalin 137. GIERIET Y I BT Bl ¥ fHa=l Tows
is - TP A B =7
(1) 8cm (1) 83
2) 10cm (2) 109
: 3) 12cm (3) 1299
‘ 4 15cm @ 159
] 138. Which of the following chemical is currently 138. T ifda # & SIFRT A qaAM # AR
used as refrigerant for preserving frozen IR BT Wae (Refrigerant) $94 & &
| semen? ferar wimar 22
fi (1) Liquid carbon dioxide 1) = FET SEdiTEs
(2) Solid carbon dioxide ?) o TR SEsiES
(3) Solid nitrogen @) o T
g (4) Liquid nitrogen @ = %l'lsﬁlx_rﬁ
y 139. ‘Nutkhut’ is the variety of - 139. “ewe fF & -
(1) Miniature rose (1) TR Tae
(2) Climber rose (2) v IEE
(3) Polyantha rose 3) tl‘lﬁrlg??ﬂ HGIC
J2L
| (4) Floribunda rose @ T%HTR'EJ,%T e
{ 140. Slip stage is a maturity index for which 140. fer m@wRl forg wesil % forg ua yRueaar
) vegetable? ADID B7
', (1) Chilli @
(2) Muskmelon (2) T
‘ (3) Watermelon @) T
(4) Brinjal @ =
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141. A genotype which is usecfi{ as,a maintainer for I41. TH SISy ST =) 961 Y@l & forw IRETH
the male sterile line - P ®T H SuAnT fHar smar & —
1) A-line wie 1 T— =&
(2) B-line o @ @ — @
3) C-—line =01 3 & — Y
4 D—line o @ & —
142. Percentage of organic matter in mineral soils 142. afoT GERIT A Shaie ysrl @ uftwr a=w J
is - Rbg ¢ A R -
(I) less than 20% L Q) 20% 9 9 4
(2) lessthan28% X @) 28%% 9
(3) less than 32% i 3) 2%% 1
@) less thap 40% @ 40%F I
143. Apis mellifera belongs to which family? 143. o Afoer e o v geftg 82
(1) Tachinidae i 1D IS
(2) Apidae (2) TUS
(3 Aphididae 7 (3) uifss
(4) Cymbidae d @ RERS
144. Ricardian theory is related to - 144, RSz Rig fpad daftm &7
(1) Rent . (1) <
(2) Wage ’;T TFW (2) Ao
(3) Interest @) ==
(4) Profit e @ o™
145. Fruit type of Guava is - 1Pl 145. 3FT%T P el Bl USK & —
(1) Bery ‘ﬂﬁ 1) wwF
2 Drupe i @ sfea
(3) Nut 3 &
(4) Balusta @) STeE

01- @
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146.

147.

148.

149.

150.

Amount of Sulphur reaching the soil by rain
is -
1)
@

2-3 kg/ha

7-8 kg/ha

(3 10-12kg/ha

4) 13-15kg/ha

Pulse rate of fowl is -

(1) 50-80

(2) 90-100

(3) 100-120

4) 200-400

Which component does not come under
Meteorological variables?

D
@
3
@

Temperature
Relative humidity
Precipitation

Soil

Average temperature of Okra cultivation -
1 12-15°C
(2) 15-18°C
(3 20-22°C
4 25-30°C

Trichogramma minutum belongs to which

family?
(1) Eulophidae
)
3)
C))

Trichogrammatidae
Formicidae

Bombycidae

146.

147.

148.

149.

150.

GET IT ON
Google Play §

& g ¥ T ugA & —

)
@
3

2-3 5. /&
7-8 fom. / 8.
10-12 fFur. /2.
13-15 f&53r. / ©.

90-100

100-120

@) 200-400

= 8§ ¥ o eRe A fOsm e
TR P AT G It B

oy
V)

GIRER)

wNfRE mdar

(3) uRifes™ (auf # A7

4 9qa

ot @1 =@l % forw sitea aeE § —
1D 12-15° 9.

(2) 15-18° 9.

(3) 20-22° 9.

@ 25-30° 4.

TR e fa g O et 87

(D
@
3)
@
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